Ksp Problems


1. According to the solubility rules, tell whether each of the following is soluble or insoluble.

a. K2SO4
b. Cu(OH)2
c. Ba(OH)2
d. (NH4)3PO4
e. Al2(CO3)3
f. PbCl2
g. FeCl3
h. Li2S

i. FeS
2. Identify the precipitate that forms when the following chemicals are mixed and write both the total and net ionic equations.
a. Sodium hydroxide + aluminum sulfate

b. Ammonium sulfate + iron (III) chloride

c. Lead (II) nitrate + aluminum bromide
3. Find the solubility product of manganese (II) sulfide if 0.2 g can dissolve in 3 L of water. This reaction does not occur at 25oC.
4. Find the solubility product of copper (II) phosphate if 0.05 g can dissolve in 10 L of water. This reaction does not occur at 25oC.
5. What mass of calcium carbonate can dissolve in 100 L of water?
6. What mass of silver carbonate can dissolve in 50 L of water?

7. What is the solubility of lead (II) iodide in g/L?
